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1. ()     ?       . 14 

 
  (i) “ ”   . 7 
  (ii) “”   . 7 
 ()     ,      .  

(  )  4 
  (i) ______     . 
   ()  ()   
   ()   ()   

  (ii) ______       . 
   ()     
   ()      
   ()     
   ()   

  (iii)       ______   . 
   ()   ()   
   ()  ()  
  (iv)            

,  ______   . 
   ()   ()   
   ()  ()  

  (v)       ______  . 
   ()    ()    
   ()    ()    

  (vi) “  ”  ______   . 
   ()    ()    
   ()  ()    
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2. ()   2017-18    , ,       
   :   14 

  (i)    ` 5,00,000.  
  (ii)    ` 25,000 (      .)  
  (iii)      ` 1,000 (  )  
  (iv)    ` 10,000 (    ` 15,000)  
  (v) ` 1,00,000        .  

   ` 500    .  
  (vi)    PPF ` 50,000   . (  ` 1,50,000  

  .)  
  (vii)        ` 20,000   . 
                80 C   

    .   25,00,000     
. 

 
  (i)   2017-18         : 7 
   (1)      ` 10,00,000. 
   (2)    ,  UK  . ` 5,00,000. 
   (3) USA   ,    . ` 2,50,000. 
   (4) USA      ` 1,25,000 (` 25,000  

 .) 
   (5)      ` 62,500. 
   (6)      ` 31,250. 
   (7)       ` 15,625. 
          ()    ()    

   ()   . 
  (ii)       -  .   2017-18   

      : 7 

 
- 

  

(1)   3,50,000 10,00,000 

(2)   4,00,000 8,00,000 

(3)   4,50,000 10,00,000 

(4)   10,000 30,000 

(5)    ( ) 90,000 1,00,000 

        .  - .   
     ? 
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 ()     ,      .  
(  )  4 

  (i)       ______   . 
   ()   ()      
   ()   ()    

  (ii)   ,  ,   2017-18  50     
  ,    ______ . 

   ()   ()      
   ()   ()    

  (iii)       ` 56,000  .    
  3   ` 5,00,000   .   20% . 
   ` ______ . 

   () 1,00,000 () 2,00,000 
   () 2,56,000 ()     56,000 

  (iv)      2017-18  300      
    .       ` 
150 .          ` 10   
  .    ` ______ . 

   () 45,000 () 27,000 () 42,000 () 24,000 
  (v)         ______   

   . 
   () 2 () 10 () 5 () 20 
  (vi)  24(a)  24(b) ______    . 
   ()  () - 
   ()   ()    

 

3. ()     2017-18      : (2017-18   272 .) 14 
    

  19-10-1999 1-7-2005 
  2-3-2018 2-3-2018 
  8,00,000 11,70,000 
  36,20,000 33,20,000 
   (1-4-2001) 10,00,000 – 
 100 117 

                  
54F  54EC       . 

 
  (i) “    ”   . 7 
  (ii) “       ”   . 7 
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 ()     ,      .  
(  )    3 

  (i)  54EC   ` ______    . 
   () 5,00,000 () 25,00,000 () 50,00,000 () 75,00,000 
  (ii)  54 B   ,      ______ 

        . 
   () 6  () 2  () 3  () 1  
  (iii)       ______    15 

      . 
   () 15% () 45% () 75% () 100% 
  (iv)      ,      ______ % 

      . 
   () 0.5 () 1 () 2 () 3 
  (v)       ` ______      

      . 
   () 10,000 () 2,50,000 () 5,00,000 () 10,00,000 
 

4. () GST  .   14 
 

  (i) “GST  ”   . 7 
  (ii) “      ”   . 7 
 ()     ,       :  

(  )    3 
  (i)         ? 

   () IGST () SGST () CGST ()   
  (ii) GST        ? 

   () 5% () 28% () 18% () 38% 
  (iii)              ______ . 
   ()   ()   ()   ()    
  (iv)          GST      . 
   ()   ()   ()   ()   
  (v)    ______          

   . 
   ()     
   ()     
   ()        
   ()    

__________ 
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1. (A) What is tax planning ? Discuss objectives and factors influencing tax planning. 14  

                                             OR 

  (i) Write a short note on “Tax Avoidance”. 7 

  (ii) Write a short note on “Tax Evasion”. 7 

 

 (B) Answer the following multiple choice questions, by selecting the most appropriate 

options : (any four) 4 

  (i) _____ is not an objective of tax planning. 

   (a) Tax evasion (b) Reduction in tax burden 

   (c) Reduction in disputes (d) Economic stability 

  (ii) Steps of tax planning includes 

   (a) Residential status and Citizenship of tax payers 

   (b) Previous year and Assessment year 

   (c) Computation of gross total income 

   (d) All of above 

  (iii) Illegal methods of reducing tax liability is known as _____. 

   (a) Tax planning (b) Tax management 

   (c) Tax evasion (d) Tax avoidance 

  (iv) When any tax payer uses loopholes of tax system to reduce his tax liability, 

it is known as _____. 

   (a) Tax planning (b) Tax management 

   (c) Tax evasion (d) Tax avoidance 

  (v) _____ refers to tax planning for the period of one year. 

   (a) Short term tax planning (b) Permissive tax planning 

   (c) Purposive tax planning (d) None of above 

  (vi) “Providing false information” is a characteristic of _____. 

   (a) Permissive tax planning (b) Purposive tax planning 

   (c) Tax evasion (d) None of above 
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2. (A) Details in respect of Mr. A’s income, expenditure, investment and donation are 
given as under for the previous year 2017-18 :  14 

  (i) Annual Basic Salary ` 5,00,000 
  (ii) Monthly Dearness Allowance ` 25,000 (considered for calculation of 

retirement benefits) 
  (iii) Annual Education Allowance ` 1,000 per child for two children. 
  (iv) Annual Medical Allowance ` 10,000 (Average annual medical expenditure  

` 15,000) 
  (v) Accommodation in Ahmedabad owned by employer along with furniture 

costing ` 1,00,000. ` 500 per month is deducted from the salary for the 
facility. 

  (vi) Mr. A contributed ` 50,000 to PPF (He is capable to save ` 1,50,000 p.a.) 
  (vii) Mr. A donated ` 20,000 in Prime Minister National Relief Fund. 
  Calculate taxable income of Mr. A and give him appropriate advise in respect of 

tax planning specifically for medical expenditure and Section 80 C. Assume 
population of Ahmedabad is more than 25,00,000. 

OR 
  (i) Following are the incomes of Mr. B for the previous year 2017-18. 7 
   (1) Salary received from Indian company ` 10,00,000. 
   (2) Profit from business in India, controlled from UK ` 5,00,000. 
   (3) Profit from business in USA, controlled from India ` 2,50,000.  
   (4) Rent received from property in USA ` 1,25,000 (brought ` 25,000 in 

India) 
   (5) Interest on Debentures of Indian company ` 62,500. 
   (6) Dividend on shares of foreign company ` 31,250. 
   (7) Agricultural income from land situated in India ` 15,625. 
   Find out his gross total income in case if he is :  
   (a) Ordinary resident 
   (b) Resident but not ordinary resident or  
   (c) Non-resident 
 
  (ii) Mr. C has two self occupied house properties. Details of these properties for 

the previous year 2017-18 are as under :  7  

Particulars 
House Properties 
X Y 

(1) Municipal Valuation 3,50,000 10,00,000 
(2) Fair Rent 4,00,000 8,00,000 
(3) Standard Rent 4,50,000 10,00,000 
(4) Municipal Tax 10,000 30,000 
(5) Interest on loan (for purchase) 90,000 1,00,000 

   Give your guidance with reference to tax planning. For self residence, 
which house should be selected by him ?  
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 (B) Answer the following multiple choice questions, by selecting the most appropriate 
option : (any four) 4 

  (i) Dividend income from Indian company is taxable for _____.  
   (a) Ordinary Resident (b) Resident but not Ordinary Resident 
   (c) Non-Resident (d) None of above 
  (ii) If Mr. D, a foreign citizen, comes to India for the first time for 50 days 

during previous year 2017-18, his residential status would be _____.  
   (a) Ordinary Resident (b) Resident but not Ordinary Resident 
   (c) Non-Resident  (d) None of above 
  (iii) Mr. E purchased car from his employer for ` 56,000. The car was purchased 

by the employer before 3 years for ` 5,00,000. Rate of Depreciation is 20%. 
Taxable value of perquisite will be ` ________. 

   (a) 1,00,000 (b) 2,00,000 
   (c) 2,56,000 (d) 56,000 
  (iv) Mr. F was provided with meal during working hours for 300 days during 

previous year 2017-18. The cost of the meal for employer is ` 150 per meal. 
The place of work is at normal area and ` 10 per meal is charged to 
employee. Taxable value of perquisite will be ` _________. 

   (a) 45,000 (b) 27,000 
   (c) 42,000 (d) 24,000 
  (v) Pre-construction period interest on borrowed capital will be available as 

deduction in _____ equal installments.   
   (a) 2 (b) 10 
   (c) 5 (d) 20 
  (vi) Section 24 (a) and 24 (b) is for income from _____. 
   (a) salary (b) house property 
   (c) other sources (d) None of above 
 
3. (A) Mr. G gives following information for the financial year 2017-18.  
  (Index for 2017-18 is 272)    14  

Particulars Urban Land Jewellery 
Date of purchase 19-10-1999 1-7-2005 
Date of sale 2-3-2018 2-3-2018 
Purchase price 8,00,000 11,70,000 
Selling price 36,20,000 33,20,000 
Fair market value (1-4-2001) 10,00,000 – 
Index 100 117 

  Calculate taxable amount of capital gain of Mr. G and give him appropriate advise 
in respect of tax planning specifically for claiming exemption u/s 54 F and 54 EC. 

OR 
  (i) Write a note on “Liability for Payment of Advance tax”. 7 
  (ii) Write a note on “Powers to reduce as waive interest”. 7 
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 (B) Answer the following multiple choice questions, by selecting the most appropriate 
options : (any three)   3 

  (i) Section 54 EC provides maximum exemptions upto  ` _______. 
   (a) 5,00,000 (b) 25,00,000 
   (c) 50,00,000 (d) 75,00,000 
  (ii) To avail exemption u/s 54B, new agricultural land should be purchased 

within a period of _______ from the date of sale of old agricultural land.  
   (a) 6 months (b) 2 years 
   (c) 3 years (d) 1 year 
  (iii) On or before 15th December of the previous year, all assessee are required 

to pay upto _______ advance tax payable. 
   (a) 15% (b) 45% 
   (c) 75% (d) 100% 
  (iv) For defaults in furnishing return of income, simple interest @ _______ % 

for the month or part of the month is charged.   
   (a) 0.5 (b) 1 
   (c) 2 (d) 3 
  (v) Liability to pay advance tax arises when tax liability to pay advance tax of 

assessee is ` _______ or more in financial year.  
   (a) 10,000 (b) 2,50,000 
   (c) 5,00,000 (d) 10,00,000 
 

4. (A) Describe salient features of GST.   14 
                         OR 
  (i) Write a note on “Functions of GST Council”. 7 
  (ii) Write a note on “Rule of Central Board of Excise and Customs”. 7 
 

 (B) Answer the following multiple choice questions, by selecting the most appropriate 
options : (any three)   3 

  (i) Which of the following taxes will be imposed on imports ?  
   (a) IGST (b) SGST 
   (c) CGST (d) All of above 
  (ii) What is the maximum rate applicable under GST ?  
   (a) 5% (b) 28% 
   (c) 18% (d) 38% 
  (iii) _______ means the tax levied under any state Goods and Service Tax Act. 
   (a) National Tax (b) Direct Tax 
   (c) State Tax (d) Output Tax 
  (iv) _______ means supply of goods or services or both which is leviable to tax 

under GST. 
   (a) Taxable supply (b) Non-taxable supply 
   (c) Composite supply  (d) All of above 
  (v) Reverse charge means the liability to pay tax by recipient of supply of 

goods or services or both instead of _______. 
   (a) supplier of goods 
   (b) supplier of services 
   (c) supplier of such goods or service or both 
   (d) None of above 


